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Question Id : 92090622469 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Question Numbers : (1 to 5)
Question Label : Comprehension

HRd ¥ Ugdl HER U3 1777 5. W o 3PReY gt 3 URw fasar o | 29 sHadl 1780
S 1 I S el 91 § urdifes UR™ | g8 e ot yRdtg v &1 ggd 9HER
U3 7 3R 39% gerEr], 3Rl & sifafed A ot ueife ga 41 39 ac Uik 8n
ard 3fvsar Toie (1783), ol Teie (1784) 3M1fe THER uF +ff fagmu uaiia &wd 4|
g1 giifopra faqmoei & sifalied U=k, sirel, a%d, S, € 3i1fe & fagme off ueifRra gid 41
Iaredl 9l H Bu4 ard fagmal F it garell § wae 4 39 sifala aifie g
qur Ul S g 7 gUl Q! & fagma v 39 yeiferd fee e O Jiadi udl & are |
B gl fagmu=T 7 el @1 iy om @it 8t 1906 3. H yia e & I gl & fagma
o &l T Y- “HRd & folg, YRa | &7

fasmo=T # gge siie gyy-wfgarsi & R 8 el g 41 WRdigl &1 39 &3 § uaw
diadl warsdt & gon| ugd Rnb widt ot gent & a3 ®ud 41 dR-4R gg uafy ow gt
T3 | HRAIY dsfdhal 3R Afgant di Wdadl & 915 ol f[ayu= & &3 | ans |

R # ISTT TR0 a1 1926 5. & URS g5 | Sererani & it =i & saauiis
faIToT Tl 1 A9%aR, 1967 ¥ URR g3 | S9! Ugd TSl 3% & THIHT 97% Sl db ¢ | URd
o &1 dl. guROr 1959 5. T WY 3111 59 H1HH WR A9 Jar 1 Sad, 1976 9§ R €5 | 39
HISOH S Ugd TS 52 B 90% S-dl dd o | WA T IHRR W § fheri & = uebied
gd ¥, 71 | R & U8 R UR™ # SR Aei=R & 915 fa-fivdd Gas o @l | 399
sifaRaa dogex SR Hiarga BiF W i fafis sl ored @ 8 gl @1 818 o o 7S |

Sub questions

Question Number : 1 Question Id : 92090622470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%ﬁWWWWWEdﬂ?

(1) 1780%. (2) 1777%.
(3) 17847%. 4) 1783 %.
Options :

92090688801. 1
92090688802. 2
92090688803. 3
92090688804. 4



Question Number : 2 Question Id : 92090622471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRd1g defedl ofik wfgent e fagu= & & 7 o2

(1) Eagargd (2) WdFAAT P 915
(3) Jufew & (4) 3MYHP BT
Options :

92090688805. 1
92090688806. 2
92090688807. 3
92090688808. 4

Question Number : 3 Question Id : 92090622472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST TSl T U 417

(1) Afye (2) Wwgd
(3) difte @) o
Options :

92090688809. 1
92090688810. 2
92090688811. 3
92090688812. 4

Question Number : 4 Question Id : 92090622473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ASh # ugd T F G oA uforerd F9d1 9 82

(1) 80% (2) 97%
(3) 90% (4) 60%
Options :

92090688813. 1
92090688814. 2



92090688815. 3
92090688816. 4

Question Number : 5 Question Id : 92090622474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR & SHR Ugd! faga dd1 Hd Y g2

(1) 1926%. (2) 1967 %.
(3) 195973 4) 1976 7.
Options :

92090688817. 1
92090688818. 2
92090688819. 3
92090688820. 4

Question Id : 92090622469 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



HRd ¥ Ugdl HER U3 1777 5. H o 3PReY fgdt 3w fasar o1 | 29 sHadt 1780
3. 7 394 gd ol A ¥ gidified U fan) g o HRdhg |t &1 Ugdl §HER
U3 7 3R 39% gHrEn], FaRt & sffafved fAama off uaifRe 818 41 39% 915 usiiRE 8n
aTd 3fvsar Teie (1783), Haddl Teie (1784) 3Mfe FHER uF i fagm ue i &wd 4|
g1 giifora faqmoeli & sifafied ok, sitel, a%d, S0, €0 onfe & fagmu= +ff usifRid gid 41
Iaredl 9l § Bu4 ard fagmei § it qarefl @ was 41 39 ifaita ot g
Yl Ul S g 7 gUl Qidd! & faqa W 39 ueiiRid fou e o) fiadl udl & e |
B are fasmu=l 7 el @t 1y om &t o4t 1906 3. H uiiara e & 31 el & fagma
o &l T Y- "HRd & fg, YRa | 97

fasmo=T # gge sife gry-wigarsi & R g el gd 41 YRl &1 39 &3 J yaw
diadl warsdt & gonl ugd Rnb widt 9 gewl & faF 9ud 31 dR-4R g8 vafy o0 gkt
T3 | HRAIY @sfdal 3R Afgant 9l Wdadl & 918 6l [aqu- & &a | os |

R § IS0 TR HaT1 1926 5. H YRS g5 | Sfrrerani & &l S=f 4 saeuiie
faIToT Tl 1 %R, 1967 ¥ URR g3 | U] Ugd TS 3% & T 97% Sd1 dP & | YRd
o &1 dl. gWROr 1959 5. T U 311 39 H1eAH W fA99E 9a1 1 96, 1976 4 UR™ €5 | 39
HISOH S Ugd TS S & 90% S-d1 d o | WM T FHRR W= § el & 9= uebiRid
gld ¥, 71 | R & Ue R UR™ H SR AHiR & 915 Ge-fied Gas o @l | 3%
sifaRaa dgex SR Hrarga wF 9 i fafte sl gy 9 8 fagmoel @1 g F o1 8 €1

Sub questions

Question Number : 1 Question Id : 92090622470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wﬁmwwmmgm

(1) 1780%. (2) 1777%.
(3) 1784% (4) 1783 %.
Options :

92090688801. 1
92090688802. 2
92090688803. 3
92090688804. 4

Question Number : 2 Question Id : 92090622471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR defddl Sk Rigamt &d fagu- & &= # g2

(1) wadargd (2) WdFAAT P 9@l
(3) QIUFHSY & (4) 3H1YIH BIed
Options :

92090688805. 1
92090688806. 2
92090688807. 3
92090688808. 4

Question Number : 3 Question Id : 92090622472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST TSl T U 417

(1) Afye (2) Wwgd
(3) difte @) o
Options :

92090688809. 1
92090688810. 2
92090688811. 3
92090688812. 4

Question Number : 4 Question Id : 92090622473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ASh # ugd T F G oA uforerd F9d1 9 82

(1) 80% (2) 97%
(3) 90% (4) 60%
Options :

92090688813. 1
92090688814. 2
92090688815. 3
92090688816. 4

Question Number : 5 Question Id : 92090622474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

TR % SFHR Ug A9 841 9 IF 837

(1) 19263, (2) 1967 5.

(3) 1959%. @4) 197673,
Options :

92090688817. 1
92090688818. 2
92090688819. 3
92090688820. 4

Sub-Section Number : 2
Sub-Section Id : 920906719
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090622475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
P dadi S e A TS TS &-
A, Sfreffarg
B. ICH

£ J=ad
I fau e fasei ¥ 9 9El IR &1 984 P ;

(1) ®ddB,C D
(2) &dEAA,B,C
(3) HEACD,E
(4) HIAACE
Options :
92090688821 1

92090688822. 2
92090688823. 3



92090688824 4

Question Number : 6 Question Id : 92090622475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FaRfRadadi S eV AT I 8-
A 3freifarg
B. ICH

e

C. WA
D. HARGH
E.  Jad
A fau e faeeul 7 ¥ el IR &1 994 Sy ;

(1) @ddB,C D
(2) &ddA,B,C
(3) @auCD,E
(4) HAdAACE

Options :

92090688821. 1
92090688822 2
92090688823. 3
92090688824. 4

Question Number : 7 Question Id : 92090622476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&R B Hid 1 a1 3 g 2

(1) EXPHTBEA (2) |l DI HH BT
(3) TV BHH B @) 9 Bl F g
Options :

92090688825. 1
92090688826. 2
92090688827. 3



92090688828. 4

Question Number : 7 Question Id : 92090622476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&R B Hid 1 a1 3 g 2

(1) EXPHTBEA (2) |l DI HH BT
(3) B &V HH BT @) 9 Bl F g
Options :

92090688825. 1
92090688826. 2
92090688827 3
92090688828. 4

Question Number : 8 Question Id : 92090622477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad o 9 g< areg &1 994 $ifoT |

(1) 32 Pl WM 87 (2) 978 Pel ol 8?
(3) 3P| ®el ol 82 (4) IU Bl A g2
Options :

92090688829. 1
92090688830. 2
92090688831. 3
92090688832. 4

Question Number : 8 Question Id : 92090622477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad o 9 g< areg &1 994 $ifoT |
(1)  IEH Pel o 87 (2) T Pl o 8?
(3) 3P| ®el ol 82 (4) IU Bl A g2

Options :



92090688829. 1
92090688830. 2
92090688831. 3
92090688832. 4

Question Number : 9 Question Id : 92090622478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& 4 weg fafd & g &
(1) o

(2) @I

(3) dfd

(4) ®H

= 3 71u faeseul & @ gl IR &1 =904 DI ;
(1) PadA

(2) &duB

(3) ad A 3R B M

(4) HAAC

Options :

92090688833. 1
92090688834. 2
92090688835. 3
92090688836. 4

Question Number : 9 Question Id : 92090622478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



& T vs2 3l & gl 82

(1) adidl
(2) DI
3) dfd
(4) ®H

2 fau 7 fasedi 7 9 9El IR &1 944 Fifoiw :

(1) ddA
(2) &ddB
(3) &dd A 3R B I
(4) HdAC
Options :

92090688833. 1
92090688834. 2
92090688835. 3
92090688836. 4

Question Number : 10 Question Id : 92090622479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S A G Heray &1 el S ®1 8 2

(1) & ¥ die| (2) TU Il
(3) &M AT (4) oned Tfthd g1
Options :

92090688837. 1
92090688838. 2
92090688839. 3
92090688840. 4

Question Number : 10 Question Id : 92090622479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S A G Heray &1 el S ®1 8 2

(1) & ¥ die| (2) TU Il
(3)  SEH AT (4) oned Tfthd g
Options :

92090688837. 1
92090688838. 2
92090688839. 3
92090688840. 4

Question Number : 11 Question Id : 92090622480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QUAD (@T3) % Hewl & He! HUIoiA &1 UgaH Hifeig-
A HRd

B. faugam

C. WmUH

D. S femr

u

E JUugu
F.  Giémr i
4 fau T faeedi § | Hel TR &1 994 Do ;

(1) ABCD
(2) ADEF
(3y ABEF
(4) A CDE

Options :

92090688841. 1
92090688842. 2
92090688843. 3
92090688844. 4

Question Number : 11 Question Id : 92090622480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

QUAD (18) % H&dl & Hel HaIeiA &I ygaH Sifere-
A HRd

B. fagaam

C. wuH

D. Sefern

u

E ZUau
F. ofém sifa
12 fou 7o fasedl & | WEl 3R &1 98- Sif9e

(1) ABCD
(2) ADEF
{3y ABEF
(4) A CDE

Options :

92090688841. 1
92090688842. 2
92090688843. 3
92090688844. 4

Question Number : 12 Question Id : 92090622481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e prR i et g S A g gs &, a g _

(1) <Y aes (2) YRAEH
(3) dacldied (4) THS dIg&h
Options :

92090688845. 1
92090688846. 2
92090688847. 3
92090688848. 4



Question Number : 12 Question Id : 92090622481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g R Tl Al s T A g s 8, 39 _

(1) gl aEs (2 URdAED
(3) O dIGd 4) TS 95
Options :

92090688845. 1
92090688846. 2
92090688847. 3
92090688848. 4

Question Number : 13 Question Id : 92090622482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

30 ¥ fFg YRR I § TORTR I W Y T A1 S 87

(M  ufgm §rd (2) UdE
(3) IO (4) HAlCH
Options :

92090688849. 1
92090688850. 2
92090688851. 3
92090688852. 4

Question Number : 13 Question Id : 92090622482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=0 ¥ by Rty Iy H URTR Id UHE Y H 391 §1d] 87

(1) ui&y €mre (2) UoE
(3) ISH (4) HAlCH
Options :

92090688849. 1
92090688850. 2



92090688851. 3
92090688852. 4

Question Number : 14 Question Id : 92090622483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S0 U B -9 $a1g HAEg ARGl (FEeE) SfEFm,2019 ¥ waftd 82

(1) fad= darem (2) & HATTY
(3)  319¥ U9 TR HAY (4) 78 HARY
Options :

92090688853. 1
92090688854. 2
92090688855. 3
92090688856. 4

Question Number : 14 Question Id : 92090622483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S0 U B H-U1 F 10 HA@g ANTRG Tl (GFEeE) i, 2019 T gaftd g2

(1) fad= garem (2) & HATGY
(3) 39 U9 TR HAWY (4) 8 HAY
Options :

92090688853. 1
92090688854. 2
92090688855. 3
92090688856. 4

Question Number : 15 Question Id : 92090622484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HRarg Fafe= smar (3 41 o) A Rydfafea e urd & ga e & wiia @) $3A
&1 Aoy femm

(1) o srefed ardf (2) sy HI™
(3) T {TeHi uref @) U Ed
Options :

92090688857. 1
92090688858. 2
92090688859. 3
92090688860. 4

Question Number : 15 Question Id : 92090622484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRara Fale= smar (§ 91 o) A Rydfafea e urdf & ga e &1 @i (@) $33
&1 fFofg ferm

(1) i sfed ardf 2) TS T HEsTm
(3)  3MTH 3MEH urdf @) ST Ed
Options :

92090688857. 1
92090688858. 2
92090688859. 3
92090688860. 4

Question Number : 16 Question Id : 92090622485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BHEI 31 U tfed H fa-ial &1 ®IF 918 & 26 af SR 310 ¥ 23 9f & ufdd & od fva- o 82

(1) 46 (2) 47
(3) 48 (4) 49
Options :

92090688861. 1
92090688862. 2
92090688863. 3
92090688864. 4



Question Number : 16 Question Id : 92090622485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B &1 U Ui H fa-iidn &1 =M o180 9 26 di 3R 21l 9 23 9f @ Ui ¥ & fba- 8 82

(1) 46 (2) 47
(3) 48 (4) 49
Options :

92090688861. 1
92090688862. 2
92090688863. 3
92090688864. 4

Question Number : 17 Question Id : 92090622486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 fordt gY " ® ugd iR sifaw sl &1 Iy o ded ¢4 & dIc Seisi &7 el 3Rt
H 1 BI?

A 146
B. 453
C. 678
D. 254
E. 942

2 fau e fasedi # 9 Hel IR &1 944 $ifoid :

(1) AEBCD
(2) EBDAC
(3) ABDEC
(4) EACBD
Options :
92090688865. 1

92090688866. 2
92090688867. 3



92090688868. 4

Question Number : 17 Question Id : 92090622486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 fordt gY " ® ugd iR sifaw sl &1 Iy o ded ¢4 & dIc Seisi &7 el 3Rt
H 1 BI?

A 146
B. 453
C. 678
D. 254
E. 942

2 fau e fasedi # 9 Hel IR &1 944 $ifoid :

(1) AEBCD
(2) EBDAC
(3) ABDEC
(4) EACBD

Options :

92090688865. 1
92090688866. 2
92090688867. 3
92090688868. 4

Question Number : 18 Question Id : 92090622487 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
uiE - iy, faftm, 9=, oA ok wefem v &9 W &% ©) 9ifirg, faftm & are 981 8
I, fee & a1e 941 & 33w usfan & |y =€ a1 ot i &9 & i RY W da1 g | 9=

T ¥ R ®H R g | i, [&ftF 3R vefda & aifed 81 <ifid SR 9= 9y 93 § 99
Hed H B 82

(1) GEEY (2) d=ad
(3) offd (4) fafo=



Options :

92090688869. 1
92090688870. 2
92090688871. 3
92090688872. 4

Question Number : 18 Question Id : 92090622487 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

uie fiE-siftra, faftm, 9=, RAw SR wafdm ues o9 W &3 81 offfrg, faftm & @1g 91 8
e, e & a1¢ 941 § 33w wefda & wry 7€ 9e1 &l & 99 & 91 R w de1 8 | 9=
T ¥ R ®H R g | i, [&ftF 3R vefda & aifed 81 <ifid SR 9= 9y 93 § 99
Hed H B 82

(1) EEEl (2) dad
3) sifEd (4) fafg=
Options :

92090688869. 1
92090688870. 2
92090688871. 3
92090688872. 4

Question Number : 19 Question Id : 92090622488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UP TSP & faF &1 3R g S gU, e aietl, “ag 74 A 31 THHE T 1Y 1 al &1
I d5® 4 o1 Had 87

(1) dgq (2) Wil
3y HI 4) =t
Options :

92090688873. 1
92090688874. 2
92090688875. 3
92090688876. 4

Question Number : 19 Question Id : 92090622488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UP TSP & faF &1 3R g S gU, e aietl, “ag 74 A 31 THHE T 1Y 1 al &1
I A5® | 1 HaY 87

(1) dgq (2) Wil
3y HI 4) =t
Options :

92090688873. 1
92090688874. 2
92090688875. 3
92090688876. 4

Question Number : 20 Question Id : 92090622489 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= SEE B SIEU- 1368, 684, 228, 114, 38, ... 5U SGET AT ST FT EHI?
(1) 16 2 17

3 18 4) 19

Options :

92090688877. 1
92090688878. 2
92090688879. 3
92090688880. 4

Question Number : 20 Question Id : 92090622489 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=Y SEE DI SIEU- 1368, 684, 228, 114, 38, ........... 5U SEET AT HE&TT FT EFI?
(1) 16 ) 17

3) 18 4) 19

Options :

92090688877 1
92090688878. 2
92090688879. 3
92090688880. 4



Question Number : 21 Question Id : 92090622490 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s afad A U Mg 1 Ui ¥ 36 U9 W16 SR 27 U4 I y=0i © |9 fu | ey ufawa
o 82

2 1
1 16= % 2) 33— %
(1) 3 (2) Wt
I 1
(3) 125 % (4) 665 %
Options :

92090688881. 1
92090688882. 2
92090688883. 3
92090688884. 4

Question Number : 21 Question Id : 92090622490 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s afad A e FiEE 47 Ui ¥ 36 U9 W18 SR 27 U4 I w0 © |9 fn | ey ufawa
o 82

2 1
1 16= % 2) 33— %
(1) 3 (2) T
I 1
(3) 125 % (4) 665 %
Options :

92090688881. 1
92090688882. 2
92090688883. 3
92090688884. 4

Question Number : 22 Question Id : 92090622491 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



farell BT w1 A 20 AT A, B 30 &A1 H 3R € 60 &A1 & R Iha1 g1 3 &x R 37 B iR
C & BRI A S el &1 Wil ol di GR1 H1d G S | fdbeH 5 aifil?

(1) 1s5feA 2) 12fem
3) 18fea 4) ofea
Options :

92090688885. 1
92090688886. 2
92090688887. 3
92090688888. 4

Question Number : 22 Question Id : 92090622491 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faefl drf &1 A 20 RATH, B 30 3T & 3R ¢ 60 AT H o2 Opar 81 ofe g R i B @R
C & GRI A DI Hergdl & Wl el d I $1Y GG H34 1 fave & @i

(1 15feA ) 12f
(3) 18fea 4) 9feq
Options :

92090688885. 1
92090688886. 2
92090688887. 3
92090688888. 4

Question Number : 23 Question Id : 92090622492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“NAZIBABAD" e H Tl &1 fobaH YR ¥ saafeyd far o Uahdr §7

(1) 362880 (2) 30240
(3) 60480 (4) 90720
Options :

92090688889. 1
92090688890. 2
92090688891. 3
92090688892. 4



Question Number : 23 Question Id : 92090622492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“NAZIBABAD" sz H auil &1 fhdl Ub R ¥ safeyd fban S wevan 87

(1) 362880 (2) 30240
(3) 60480 (4) 90720
Options :

92090688889. 1
92090688890. 2
92090688891. 3
92090688892. 4

Question Number : 24 Question Id : 92090622493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

63 & 2/3 3R 93 & 1/3 BT 3R fasa=1 g7

(1 12 @) 31
(3) 21 @ 11
Options :

92090688893. 1
92090688894. 2
92090688895. 3
92090688896. 4

Question Number : 24 Question Id : 92090622493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

63 & 2/3 3R 93 & 1/3 &7 3fd faea=11 S

(1) 12 ) 31
(3) 2 4y 11
Options :

92090688893. 1
92090688894. 2
92090688895. 3



92090688896. 4

Question Number : 25 Question Id : 92090622494 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! | & Ty Gt 1| FT HaE S (@a X &1 uE v § Wi g 9 oEi $ US e
&1 UE B, U TIYUTS &1 B+, 1/6 Bl TS B-3R 1/8 Td §U Wi o TS € 3R 11 &1 U8 A
faar

gdl-| -l

(A) TS AU HA ard faemdial &t =gAas s m 6
B) TS B+ U & drd faendffai St zmam g () 4
(€) S B YK &Y drd faemdfdi &t =amd=m . () 3
(D) US B-WHH i st gaam i (v 8

A feu 7o fawedi § 9§ Wel 3T &1 944 S

(1) (A=), (B)-(IV), (C)-(l), (D)-(I1y

(2)  (A)-(IV), (B}-(II), (C)-(I), (D)-(I)

(3)  (A)-(l), (B)-(1), (O)-(IV), (D)-(1)

(4)  (A)-(1), (B)-(), (C)-(1), (D}-(IV)

Options :

92090688897. 1
92090688898. 2
92090688899. 3
92090688900. 4

Question Number : 25 Question Id : 92090622494 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4! | & Ty Gt 1| T A S (@en X &1 uP wden § Wi g S oEl $ UE e
1 US B, U HIUTs & B+, 1/6 DI US B-3AR 1/8 el BU o [ U8 C iR I &1 I8 A
foan) -

gdl-| -l
(A) TS A VI HA ard faemdfal &1 gmay dem m 6
(B) TS B+ U &3 drdl [aemffdi 1l gmam d@=m () 4
(€ U BN & ard faendiai #t gaamdsm () 3
(D) TS B- UG & ard [l #lgaaudsm (v) 8

413 fdu Tt fdeeai § 9 9el IR &1 99+ Hifeig:

(1) (A)-(0), (B)-(IV), (O)-(I1), (D)-(111)
(2)  (A-(IV), (B)-(l), (©)-(I), (D)-(1)
(3)  (A)-(IH), (B)-(1), (C)-(1v), (D)-(I1)
(4)  (A)-(n), (B)-(I), (C)-(1), (D)-(IV)

Options :

92090688897. 1
92090688898. 2
92090688899. 3
92090688900. 4

Part B: Agricultural Science

Section Id : 920906446
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906720
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090622495 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Soil Health Card Scheme was launched in which year?
(1) 2007 (2) 2014
(3) 2015 (4) 2020

Options :

92090688901.
92090688902.
92090688903.
92090688904.

AW N —

Question Number : 26 Question Id : 92090622495 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hel TR FE 6 96§ oy e gy

(1) 2007 {2y 2014
(3) 2015 (4) 2020
Options :

92090688901. 1
92090688902. 2
92090688903. 3
92090688904. 4

Question Number : 27 Question Id : 92090622496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pradhan Mantri Fasal Beema Yojana started in which vear?

(1) 2016 (Z) 2004
(3) 2017 (4) 2019

Options :

92090688905. 1
92090688906. 2
92090688907. 3
92090688908. 4

Question Number : 27 Question Id : 92090622496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
THFHAT HEe SE1 Ara1 (68 99 § AT g3 a7
(1) 2016 (2) 2004
(3) 2017 (4) 2019

Options :

92090688905. 1
92090688906. 2
92090688907. 3
92090688908. 4

Question Number : 28 Question Id : 92090622497 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kisan Credit Card scheme was launched in which vear?
(1) 19898 (2) 2000
(3) 1995 (4) 2005

Options :

92090688909. 1
92090688910. 2
92090688911. 3
92090688912. 4

Question Number : 28 Question Id : 92090622497 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e shfse IS F1eHT o8 99 H WHRT §aT o7

(1) 1998 (2) 2000
(3) 1996 (4) 2005

Options :

92090688909. 1
92090688910. 2
92090688911. 3
92090688912. 4

Question Number : 29 Question Id : 92090622498 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
National Initiative on Climate Resilient Agriculture (NICRA) started in which year?

(1) 2012 (Z) 2010
()] 2011 (4) 2014

Options :

92090688913. 1
92090688914. 2
92090688915. 3
92090688916. 4

Question Number : 29 Question Id : 92090622498 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A9 fafiefea w1 T afove witeer (fser) e s ganm ane

(1) 2012 (2) 2010
(3) 2011 (4) 2014
Options :

92090688913. 1
92090688914. 2
92090688915. 3
92090688916. 4

Question Number : 30 Question Id : 92090622499 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Year 2023 has been declared as International vear of millets by

(1) ICAR (2) ICMR
(3) WHO (4) UNO
Options :

92090688917. 1
92090688918. 2
92090688919. 3
92090688920. 4

Question Number : 30 Question Id : 92090622499 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

a9 2023 =1 Ol I 1 A0y 99 e g ' fear mar ane

(1) 38410 3m. (2) 8.5 ug AN,
(3) oEogUE.A. (4) I3
Options :

92090688917. 1
92090688918. 2
92090688919. 3
92090688920. 4

Question Number : 31 Question Id : 92090622500 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following crop is used for flax and oil both?

(1) Ragi {2y Mustard
(3) Bajra {4) Linseed
Options :

92090688921. 1
92090688922. 2
92090688923. 3
92090688924. 4

Question Number : 31 Question Id : 92090622500 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafefas e § fovg a8 &1 13 v 30 oo & =9 9 for 9 27

(1) T (2) =l
(3) =0 (4) Tl
Options :

92090688921. 1
92090688922. 2
92090688923. 3
92090688924. 4

Question Number : 32 Question Id : 92090622501 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is generally used for reclamation of soil acidity?

(1) Gypsum (2) Lime
(3) Iron pyrites (4) Biofertilizers
Options :

92090688925. 1
92090688926. 2
92090688927. 3
92090688928. 4

Question Number : 32 Question Id : 92090622501 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ffefign 9 5 foram v amm=m: e ge1 % g9n &g & s 27

(1 fo=m (2) =
(3) 3 IIEEe (4) SETRCTEAE
Options :

92090688925. 1
92090688926. 2
92090688927. 3
92090688928. 4

Question Number : 33 Question Id : 92090622502 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Water harvesting is defined as

(1)  Application of water at the time of harvesting
(2) Harvesting deep water from soil by pumping
(3)  Umt of water applied to crop

(4)  Collection of excess run off from the rain

Options :

92090688929. 1
92090688930. 2
92090688931. 3
92090688932. 4



Question Number : 33 Question Id : 92090622502 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HTeL BTG 1 36 IHE ITyd A &
(1) e & THT 9 &1 T30 FHT|
(2) FET % ERI TES | GHT e |
(3) HEACITET &q THI o $H1S WA AT |
(4) °ul 9 & HAfdiET FEE T TR F |
Options :
92090688929. 1
92090688930. 2

92090688931. 3
92090688932. 4

Question Number : 34 Question Id : 92090622503 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Megasporogenesis occurs in

(1) Stigma (2) Style
(3) Filament (4) Ovules
Options :

92090688933. 1
92090688934. 2
92090688935. 3
92090688936. 4

Question Number : 34 Question Id : 92090622503 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WIEARSHGE 8 £ |

(1) femy (2) =Ead

@) Fremic d (4) 3ieges |
Options :

92090688933. 1



92090688934. 2
92090688935. 3
92090688936. 4

Question Number : 35 Question Id : 92090622504 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not acted as antitranspirants in the plants?

(1) COe2 (2y O
{(3) Abscisic acid {4) Silicone oils
Options :

92090688937. 1
92090688938. 2
92090688939. 3
92090688940. 4

Question Number : 35 Question Id : 92090622504 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feferfian o | frem waim dibl 4 wEEmEEie * €9 H T8 BA 8 7

(1) €O 2 O
(3) ufeuide e (4) Taforia oot
Options :

92090688937. 1
92090688938. 2
92090688939. 3
92090688940. 4

Question Number : 36 Question Id : 92090622505 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A reaper is used for

(1) Harvesting (2) Harvesting and winnowing

(3) Harvesting and threshing (4) Threshing only

Options :



92090688941. 1
92090688942. 2
92090688943. 3
92090688944. 4

Question Number : 36 Question Id : 92090622505 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T =1 9= fera = 2 |

(1) s & (2) et 3R 3TEE 7
(3) hers T HSE 7 (4) *Hect HEE B
Options :

92090688941. 1
92090688942. 2
92090688943. 3
92090688944. 4

Question Number : 37 Question Id : 92090622506 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is not a measure of central tendency?

(1) Mean (2) Mode
(3) Median (1) Standard deviation
Options :

92090688945. 1
92090688946. 2
92090688947. 3
92090688948. 4

Question Number : 37 Question Id : 92090622506 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Trafefiad § 1 1 S2a Sl o &1 TiH T8l 87

(1) == (2) HIE

(3) afem (4) veg efaum



Options :

92090688945. 1
92090688946. 2
92090688947. 3
92090688948. 4

Question Number : 38 Question Id : 92090622507 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

King of Pippin is the variety of .....

(1) Papayva (2) Plum
(3) Kiwi (4) Apple
Options :

92090688949. 1
92090688950. 2
92090688951. 3
92090688952. 4

Question Number : 38 Question Id : 92090622507 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T aTw fueff’ Frafefaa 3 et wefa 27

(1) odfan (2) =™
(3) <hiE (4) ==
Options :

92090688949. 1
92090688950. 2
92090688951. 3
92090688952. 4

Question Number : 39 Question Id : 92090622508 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The grape variety “Sonaka” used for which purpose?

(1)  Juice making (2) Table seeded
(3) Wine making (4) Raisin



Options :

92090688953. 1
92090688954. 2
92090688955. 3
92090688956. 4

Question Number : 39 Question Id : 92090622508 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR i T wART Fefafaa § e e #g wEm H @ S 27

(1) 5& = (2) @ 7 (sff=en)
(3) a1EH W 7 (4) Terwfaw o 24
Options :

92090688953. 1
92090688954. 2
92090688955. 3
92090688956. 4

Question Number : 40 Question Id : 92090622509 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tristeza virus is associated with ...

(1) Mango (2) PBanana
(3) Citrus (4) Grape
Options :

92090688957. 1
92090688958. 2
92090688959. 3
92090688960. 4

Question Number : 40 Question Id : 92090622509 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



foeean fommy frfefian & wfaam 2

() =™ (2) Her
(3) g (4) [
Options :

92090688957. 1
92090688958. 2
92090688959. 3
92090688960. 4

Question Number : 41 Question Id : 92090622510 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fanging is related to

(1) Cracking of buds (2} Deformed roots
(3) Fruit drop (4) Storage loss
Options :

92090688961. 1
92090688962. 2
92090688963. 3
92090688964. 4

Question Number : 41 Question Id : 92090622510 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Wi Fefafea @ g=fE 2 |

(1) el & B (2) wel 72
(3) w1 (4) WUSHU THAH
Options :

92090688961. 1
92090688962. 2
92090688963. 3
92090688964. 4

Question Number : 42 Question Id : 92090622511 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following spectrum range is called photosynthetically active radiation?

(1) 400 — 700 nm {2y 700- 1000 nm
(:3) 1000 — 1300 nm (4) 1300— 1700 nm

Options :

92090688965. 1
92090688966. 2
92090688967. 3
92090688968. 4

Question Number : 42 Question Id : 92090622511 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ffetfigs ° =9 € wagg 19 ‘W= veiwn’ 84 AfET B 27

(1) 400 — 700 nm (2) T00-1000 nm
(3) 1000 — 1300 nm (4) 1300- 1700 nm
Options :

92090688965. 1
92090688966. 2
92090688967. 3
92090688968. 4

Question Number : 43 Question Id : 92090622512 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Site of protein synthesis in a cell is

(1) Endoplasmia {(2) Mitochondria
() Chloroplast (4) Ribosomes
Options :

92090688969. 1
92090688970. 2
92090688971. 3
92090688972. 4

Question Number : 43 Question Id : 92090622512 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

FIH & Toh| 97 § 9iEH &1 fmior 2T 27

(1) Saz=3 F 3=t (2) wArEcrwi-gar
(3) TR | (4) TEEEm °
Options :

92090688969. 1
92090688970. 2
92090688971. 3
92090688972. 4

Question Number : 44 Question Id : 92090622513 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is not true for Mycorrhizae Fungi?

(1) Phosphate gatherer {2) Assosiated with plant roots
{(3) (Obligate parasites {4) Nitrogen gatherer
Options :

92090688973. 1
92090688974. 2
92090688975. 3
92090688976. 4

Question Number : 44 Question Id : 92090622513 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frfafan | Fi9 TEHIE W 8q §0 HYF T8 B 7

(1) Tk TUE 4 91 (2) ddl % FE o geErd
(3)  IIH TS (4) TSI HUR A 9T
Options :

92090688973. 1
92090688974. 2
92090688975. 3
92090688976. 4



Question Number : 45 Question Id : 92090622514 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following seed is genetically most pure?

(1) Breader seed (2) Nucleus seed
(3) Foundation seed (4) Certified seed
Options :

92090688977. 1
92090688978. 2
92090688979. 3
92090688980. 4

Question Number : 45 Question Id : 92090622514 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fefefaa § S & o9 3=y =9 & 994 7g 914 2 87

(1) o= o (2) =faeEs &=
(3) HIEIvEYH = (4) THIOEETS
Options :

92090688977. 1
92090688978. 2
92090688979. 3
92090688980. 4

Question Number : 46 Question Id : 92090622515 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rhizobiuwm plays important role in ...

(1) Potash fixation (2) Phosphorus fixation
(3) Iron fixation (4) Nitrogen fixation
Options :

92090688981. 1
92090688982. 2
92090688983. 3
92090688984. 4



Question Number : 46 Question Id : 92090622515 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UEHIeaT % g5 F1Y 8 |

(1) diew |5ug (2) SEETH TUE
(3) e wuE (4) A TR
Options :

92090688981. 1
92090688982. 2
92090688983. 3
92090688984. 4

Question Number : 47 Question Id : 92090622516 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In most minerals soils particle density varies within

(1) 1.B7 —2.20 (2) 225 —2.40
(3) 2.50-2.70 (4) 2.78-295
Options :

92090688985. 1
92090688986. 2
92090688987. 3
92090688988. 4

Question Number : 47 Question Id : 92090622516 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hftrerrar @il o gt & Fo0 &1 59 &% == BT E

(1) 1.87-220 (2) 2.25-2.40

(3 2.50-2.70 (4) 2.78-2.95
Options :

92090688985. 1
92090688986. 2
92090688987. 3
92090688988. 4



Question Number : 48 Question Id : 92090622517 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is phosphorus content in DAP?

(1) 15% (2) 28%
(3) d8% (4) 46%
Options :

92090688989. 1
92090688990. 2
92090688991. 3
92090688992. 4

Question Number : 48 Question Id : 92090622517 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Su . d SoERE S g et 2 27

(1) 18% (2) 28%
() a8% (4) 46%
Options :

92090688989. 1
92090688990. 2
92090688991. 3
92090688992. 4

Question Number : 49 Question Id : 92090622518 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Saline soils ocour mostly in

(1) Subtropical regions {2) Arid and semi-arid regions
(3) Tropical regions {4) Hilly regions
Options :

92090688993. 1
92090688994. 2
92090688995. 3
92090688996. 4



Question Number : 49 Question Id : 92090622518 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) w=gIuehe &l | (2) uitg 3w &4 ufts &= |
(3) oifusher &= | (4) wETE! &AT H
Options :

92090688993. 1
92090688994. 2
92090688995. 3
92090688996. 4

Question Number : 50 Question Id : 92090622519 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tospovirus is related to

(1) Okra (2) Garlic
(3) Onion (4) Chillies
Options :

92090688997. 1
92090688998. 2
92090688999. 3
92090689000. 4

Question Number : 50 Question Id : 92090622519 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e’ e
(1) T (2) &g
(3) == (4) T
Options :

92090688997. 1
92090688998. 2
92090688999. 3



92090689000. 4

Question Number : 51 Question Id : 92090622520 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FSSAI has been established under the Food Safety and Standards Act

(1) 2006 (2) 2008
(3) 2009 (4) 2011
Options :

92090689001. 1
92090689002. 2
92090689003. 3
92090689004. 4

Question Number : 51 Question Id : 92090622520 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U U9, TH. U, 3. o 34 @Td L& Ud O U - & 3aia a1 791 2 |

(1) 2006 (2) 2008
(3) 2009 (4) 2011

Options :

92090689001. 1
92090689002. 2
92090689003. 3
92090689004. 4

Question Number : 52 Question Id : 92090622521 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Browning in cauliflower is due to deficiency of

(1) Nitrogen (2) Phosphorus
(3) Boron {4) Molybdenum
Options :

92090689005. 1
92090689006. 2
92090689007. 3



92090689008. 4

Question Number : 52 Question Id : 92090622521 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FerHl § B AT Y9 T J&T HR0 TehEeht it 27

(1) 7= (2) HERTH
(3) =AW (4) wifeeem
Options :

92090689005. 1
92090689006. 2
92090689007. 3
92090689008. 4

Question Number : 53 Question Id : 92090622522 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The milling and polishing of raw rice reduces riboflavin by

(1) 56% (2) 65%
(3) T2% (4) T8%
Options :

92090689009. 1
92090689010. 2
92090689011. 3
92090689012. 4

Question Number : 53 Question Id : 92090622522 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g i FeTs TH TN & SR Tgardeiiad i 7= TZ A & |
(1) 56% (2) 65%
(3 72% (4) 8%

Options :

92090689009. 1
92090689010. 2



92090689011. 3
92090689012. 4

Question Number : 54 Question Id : 92090622523 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Polyembryony occurs in

(1) Papaya (2} Banana
(3 Guava {4) Mango
Options :

92090689013. 1
92090689014. 2
92090689015. 3
92090689016. 4

Question Number : 54 Question Id : 92090622523 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT EaT 8

(1) 9o (2) el
(3) mEg (4) =9
Options :

92090689013. 1
92090689014. 2
92090689015. 3
92090689016. 4

Question Number : 55 Question Id : 92090622524 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fully opened blossoms in apple may be killed at temperature below

(1) 06°C (2 —22°C
(3) -1.0°C (4) 0°=C
Options :

92090689017. 1



92090689018. 2
92090689019. 3
92090689020. 4

Question Number : 55 Question Id : 92090622524 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o9 § [ 7€ § fae 09 H A= ATHE WOH FHd ¢ |
(1) 0.6 ° ufcazs (2) — 2.2 °ufcags
(3)  -1.0c°#afcamm (4) 0 °=fcomm
Options :

92090689017. 1
92090689018. 2
92090689019. 3
92090689020. 4

Question Number : 56 Question Id : 92090622525 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MNozzle 15 a part of

(1) Rotary duster (2) Cynogas pump
(3) Hand compression spraver {4) Rotary pump
Options :

92090689021. 1
92090689022. 2
92090689023. 3
92090689024. 4

Question Number : 56 Question Id : 92090622525 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
it fereent aqmT/ 37 7
(1) Ted == (2) @S T
(3) %3 E"T":ﬁ}ﬂ—{ '@Eﬂ (4) f[z'a g

Options :



92090689021. 1
92090689022. 2
92090689023. 3
92090689024. 4

Question Number : 57 Question Id : 92090622526 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The worker bee is

(1) Drone (2} Sterile male
{3) Sterile female (4) Queen
Options :

92090689025. 1
92090689026. 2
92090689027. 3
92090689028. 4

Question Number : 57 Question Id : 92090622526 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

nyAfFEEl 4 4hs Al i

(1) 3H (2) U W

(3) T AW (4) T
Options :

92090689025. 1
92090689026. 2
92090689027. 3
92090689028. 4

Question Number : 58 Question Id : 92090622527 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The botanieal pesticide “Pyrethrum” is derived from

(1)  Nicotiania sp. (2) Mangifera sp.
{3) Tagetes sp. (4) Chrysanthemum sp.



Options :

92090689029. 1
92090689030. 2
92090689031. 3
92090689032. 4

Question Number : 58 Question Id : 92090622527 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FHEa S ey ey’ H wH o < 2

(1) FH=ifzamT & (2) F~1ea @

(3) 27ew &, (1) PEI<mE @,
Options :

92090689029. 1
92090689030. 2
92090689031. 3
92090689032. 4

Question Number : 59 Question Id : 92090622528 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following is an example of high volume spraver

(1) ULV applicator {2) Foot sprayer
(3) Hand spraver {4) Battery operated sprayer
Options :

92090689033. 1
92090689034. 2
92090689035. 3
92090689036. 4

Question Number : 59 Question Id : 92090622528 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafafia 9 3=9 s/g9w I g e

(1) F.ua . e (2) o arfem =
(3) By =i W (4) =1 =nfera =
Options :

92090689033. 1
92090689034. 2
92090689035. 3
92090689036. 4

Question Number : 60 Question Id : 92090622529 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first transgenic crop approved for cultivation was

(1) Tomato (2) Brinjal
{(3) Potato (4) Okra
Options :

92090689037. 1
92090689038. 2
92090689039. 3
92090689040. 4

Question Number : 60 Question Id : 92090622529 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ITIEA 8 99T g HEe EnRimftsicanicaticil
(1) @A (2) &

(3) e (4) Tvg

Options :

92090689037. 1
92090689038. 2
92090689039. 3
92090689040. 4

Question Number : 61 Question Id : 92090622530 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The Downey mildew of Bajra is caused by

(1) Selerospora sorghi (2) Sclerospora sacchari
(3)  Sclerospora graminicola (4) Prenospora parasitica
Options :

92090689041. 1
92090689042 2
92090689043. 3
92090689044. 4

Question Number : 61 Question Id : 92090622530 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T H EF 9l 23 faesq w1 #ne 2l

(1)  EEGETRT FRETE (2) TEHCHICIRT TFHAT
(3) U JEHw (4) FHETRT FaEreHT
Options :

92090689041. 1
92090689042. 2
92090689043. 3
92090689044. 4

Question Number : 62 Question Id : 92090622531 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Karnal bunt of wheat is caused by

(1) Nevossia indica (2y Tilletia horrinda
(.3) Uracystis tritici (4) Usitlogo tritici
Options :

92090689045. 1
92090689046. 2
92090689047. 3
92090689048. 4

Question Number : 62 Question Id : 92090622531 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

TR H B AT AT 92 H] B 8 |

(1)  fHaifEar st (2) [2eifaar giftust
(3) FofaleT farE (4) FETam e
Options :

92090689045. 1
92090689046. 2
92090689047. 3
92090689048. 4

Question Number : 63 Question Id : 92090622532 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Panama wilt is associated with

(1) Bamboo (2) Mango
{(3) Pineapple (4) Banana
Options :

92090689049. 1
92090689050. 2
92090689051. 3
92090689052. 4

Question Number : 63 Question Id : 92090622532 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g Taee a=fm 2

(1) =g (2) ¥

(3) I=E (4) Her
Options :

92090689049. 1
92090689050. 2
92090689051. 3
92090689052. 4

Question Number : 64 Question Id : 92090622533 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Apical dominance is primarily due to

(1) Auxin (2) (Gibberellin
(3) Cytokinin (4) Ethylene
Options :

92090689053. 1
92090689054. 2
92090689055. 3
92090689056. 4

Question Number : 64 Question Id : 92090622533 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ufthet S qEgd: & HRT FI # |
(1) AT (2) fomfes
(3) CTEEEEEE (4) sfe=
Options :

92090689053. 1
92090689054. 2
92090689055. 3
92090689056. 4

Question Number : 65 Question Id : 92090622534 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

VAM is associated with

(1) Bacteria (2) Fungi
(3) Virus (4) Algae
Options :

92090689057. 1
92090689058. 2
92090689059. 3
92090689060. 4

Question Number : 65 Question Id : 92090622534 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

=105, TrEfad 2 |

(1) St 8§ (2) FaHd

(3) fasmopaT = (4) SETa o
Options :

92090689057. 1
92090689058. 2
92090689059. 3
92090689060. 4

Question Number : 66 Question Id : 92090622535 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion {A) : Pungency and red colour found in chilli.

Reasons (R) : Capsaicin and capsanthin pigment are responsible for the above
characteristics in challi.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) {A) 1s correct but (R) 18 not correct

(4) {A) 18 not correct but (R) is correct

Options :

92090689061. 1
92090689062. 2
92090689063. 3
92090689064. 4

Question Number : 66 Question Id : 92090622535 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4= g1 ®Y9A for U E ;v 3TaeUH (Assertion A) % ®9 § fefigd § 91 gEU I8 HR
(Reason R) & =9 7 :

e (A) . 9§ diEme 3 e o 9 I 2
10 (R) : ot 3 Fueiedin Tos 3w Hua &g IO 2 2 |

TR HYF & HATEA® |, A9 G T fahed] § § §96 I9F I B 57 HI0

() (A) 3 (R) 31 781 & 317 (R). (A) 1 78 = & |

(2)  (A) 3 (R) g1 w8l &, i (R), (A) i @& =mean 74 2 |
(3) (A) =l 8, sifF (R) 581 781 8

(4)  (A) wé =E 2, wifesT (R) wEt 21

Options :

92090689061. 1
92090689062. 2
92090689063. 3
92090689064. 4

Question Number : 67 Question Id : 92090622536 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(iven below are two statements :

Statement I Mutation 18 sudden heritable change in characteristics of an
organism.

Statement I1: Mutations is very common in release of new flower varities.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both Statment I and Statement Il are true
(2) Both Statment I and Statement 11 are false
(3) Statment I is true and Statement I 1s false

(1) Statment [ is false and Statement 11 is true

Options :

92090689065. 1
92090689066. 2
92090689067. 3



92090689068. 4

Question Number : 67 Question Id : 92090622536 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H9 g1 #ud fegu v E ;v AU (Assertion A) % w9 H fofia 2 af gEw 35 #Ew
(Reason R) 5 &9 1 :

sAtYE (A): Tt Sfie & sFafos @emi d s &6 9t 9iEdd & SeaiEdd
FEd £ |
F (R) : IATfEdA Beil 9 7% gt f9efia 1 § 987 9EEE 2 |

ITIE HUA o TS H, A= 160 70 Fhedl § H HaH 99 I 61 944 i

(1) (A) 3T (R) gHi 58 & 3R (R), (A) =1 @&t =aven 2|

(2) (A) 3 (R) S w8 &, @fF (R), (A) 1 g smen 748 21
(3) (A)@E B, ©ife (R) @&l 721 2|

(1) (A) = @ 2, @il (R) BE 2|

Options :

92090689065. 1
92090689066. 2
92090689067. 3
92090689068. 4

Question Number : 68 Question Id : 92090622537 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R) :
Assertion (A) : (Guava is considered most suitable fruit for jelly making because
guava is rich in pectin content.

Reasons (R) :  Pectin is one of the essential components for jelly making.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R} is NOT the correct explanation of (A)
(3) {A) 18 correct but (R) 1= not correct
(4) {A) 18 not correct but (R) is correct
Options :
92090689069. 1
92090689070. 2

92090689071. 3
92090689072. 4

Question Number : 68 Question Id : 92090622537 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A g1 e T U E : us #iUeeH (Assertion A) % ®9 H foifiga 2 a9 g0 39 FEw
(Reason R) & &9 7 :

AP (A) :  FAUSE HI SAell aW &g AYERT HET AT E FEih ATEG H Ufdes bl WA
3t B 2 |

F (R) UfFed Seft &9 &g AETES 9T 2
ITRE H2H % el O, Hra fu e fawedi O # Ha8 I9gE 3 6 994 i

(1)  (A) 3 (R) g1 &8l & 31 (R), (A) i @& =0 & |

(2) (A) 3 (R) 21 @@l 8, @i (R), (A) =1 wél =me 721 2 |
(3) (A) @l 2, wifehd (R) ®E1 781 & |

(1) (A) W& 7E 2, @ (R) w8 2

Options :
92090689069. 1



92090689070. 2
92090689071. 3
92090689072. 4

Question Number : 69 Question Id : 92090622538 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given helow are two statementz : One is labelled as Assertion (A) and the other is

labelled as Reason (R) ;

Assertion (A) : Peach and Nectarine requires heavy and regular pruning than apple
and pear.

Reasons (R) : Peach and Nectarine bears fruits only on the current season shoot.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (B) 15 the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
{3) {A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

92090689073. 1
92090689074. 2
92090689075. 3
92090689076. 4

Question Number : 69 Question Id : 92090622538 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= 21 FuA for U E : v wfUee (Assertion A) % =9 § fafigd 2 91 g0 35E FA0
(Reason R) &% &9 4 :

YA (A) ;31T 3R AT | F9 iR AT i qe 5 S 3T AR werE-wers
61 IATEvEHaT &l 2 |

F0 (R) : Mg 3R AFH °§ ®e W6 7E I W A E |
YRR FYA o A H, A1 G0 70 el § ¥ TEE I9gF I 61 984 I

(1)  (A) 3T (R) aHT ®El & 3R (R), (A) i w1 =men 2 |

(2)  (A) 3 (R) SHT @@t &, Sife (R), (A) =1 @t samen =& 2 |
(3) (A)@E B, oiferT (R) @&l 71 B |

(4) (A wéi FE #, wifehT (R) wEl 81

Options :

92090689073. 1
92090689074. 2
92090689075. 3
92090689076. 4

Question Number : 70 Question Id : 92090622539 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One i1s labelled as Assertion (A) and the other 1s
labelled as Reazon (R) ;

Assertion (A): Tetrazolium test imparts red colouration on the viable cells in seed
viability test.

Eeasons (R) : Dehydrogenase enzyme used for red colour formazon.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R} is NOT the correct explanation of (A)
(3 (A) is correct but (R) 1= not correct

{4) {A) i1s not correct but (R) is correct

Options :
92090689077. 1



92090689078. 2
92090689079. 3
92090689080. 4

Question Number : 70 Question Id : 92090622539 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fra 21 e fgr o 2 ;v wfeeH (Assertion A) % w0 fafiga 2 91 g@u 3@%
(Reason R) & &9 ¥ :

AYFYT (A): o1 o 7T FHAI I Ad § AIeTI S R SHiad IR § @
T AR

HA0 (R) : Tl T B o 2q gegifas weneg &1 9F g 2 |

I HYA & AT °, I fqu v faswedl § 8 ga" 3ugea 39 #1994 Sl

() (A) 3 (R) FF 78 & 311 (), (A) 1 78 =we 2 |

(2) (A) 3 (R) =H 52 &, S (R), (A) it = =men 78 2|
(3)  (A)wEt 8, il (R) wél 781 |

(1) (A) wé 78 &, @ (R) & 21

Options :

92090689077 1
92090689078. 2
92090689079. 3
92090689080. 4

Question Number : 71 Question Id : 92090622540 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ :  Law of diminishing return also regarded as a law of life itself.

Statement IT: This law helps in determination of optimum input to use and
optimum output to produce.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both Statment 1 and Statement 11 are true
(2) Both Statment I and Statement 11 are false
{(3) Statment I 18 true and Statement 11 1= false
(4) Statment I is false and Statement I1 1s true

Options :

92090689081. 1

92090689082. 2

92090689083. 3
92090689084. 4

Question Number : 71 Question Id : 92090622540 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬂ%amﬁt{wﬁ:ﬁmﬁw{Asﬁertionﬁ}%ﬁﬁﬁf@ﬁ%ﬁwmm
(ReamnR)%FE':Fﬁ:

AT (A) - & 31w feffafm fed =1 =7 3% s% o F8 3 2|

F=E (R) : 77 Taq Team faw 310 geag 30 & Fui 4 g8+ e 2 |
IR HYA o A °, A= fGu U faweni § ¥ 98 3 #1999 Hifa

(1) (A) 3 (R) EHI &7 & 3R (R), (A) 1 8t == & |

(2)  (A) 3R (R) gHi & &, wf6A (R), (A) 61 Hél =me 78 8 |

(3 (A)TFE, @ (R) 753 2|

(@) (A) zEca &, wifE (R) 7 21

Options :

92090689081. 1
92090689082. 2
92090689083. 3
92090689084. 4



Question Number : 72 Question Id : 92090622541 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement I : A purline variety is a variety which ohtained from many heterozygaus
plants of cross pollinated crop.

Statement I1 : A pureline become genetically variable with time due to mechanical
mixture, natural hybridization and mutation.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement I1 are true
(2} Both Statement I and Statement 11 are false
{3) Statement I 1s true but Statement I 1s false
{4) Statement I is false but Statement II 1s true

Options :

92090689085. 1
92090689086. 2
92090689087. 3
92090689088. 4

Question Number : 72 Question Id : 92090622541 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=y feumu # -

FoF ([): TS SR 8T UG $E TN o ELIAETE Uil & HE IeiHyE § 9 fHy
S & |

w9 (1) : UH AR A, FUAEE R, EOE H6 U9 Seiddd & SR
IHAE ®9 | qfEdAsiiel 2 w1 2

YT YA & TS H, Ad G0 70 fGeedl § ® ®@El 39 0 999 i
(1) =94 (I) #r (1) i & 2 |

(2)  FEF (D) AR (D TH A5TE |

(3)  wua (D)= &, e %ad (1) 31593 21

(4)  FuF () 393 2, ¥ w2 (1) FF 2|

Options :
92090689085. 1
92090689086. 2



92090689087. 3
92090689088. 4

Question Number : 73 Question Id : 92090622542 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange these soil horizons from top to bottom.

(A) A
(B) As
(C) A
(D)  Ag
(E) Awm

Choose the correct answer from the options given below :

(1) (D). (E). (A), (B), (C) (2) (E), (D), (A), (B), (C)
(3) (E), (D), (C), (B), (A) (4) (A), (B). (C), (D). (E)
Options :

92090689089. 1
92090689090. 2
92090689091. 3
92090689092. 4

Question Number : 73 Question Id : 92090622542 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U MU ger R W IW F A= H A T wl|

(A)
(B)
(©)
(D)
(E)

A

= feu v foedt § @ w1 I % =99 Fifw

(1)
(3)

(D). (E), (A), (B). (C) (2) (E), (D), (A). (B). (C)
(E), (D), (C), (B), (A) (4) (A, (B). (C), (D), (E)

Options :

92090689089. 1
92090689090. 2
92090689091. 3
92090689092. 4

Question Number : 74 Question Id : 92090622543 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Arrange these soil particles as per their size (large to small)

(A)
(B)
(©)
(D)
(E)

Clay

Fine gravel
Sand (course)
Sand (fine)

Silt

(Choose the correct answer from the options given below :

(1)
(3)

(A). (B). (C), (D), (E) (2) (D). (B), (C). (A). (E)
(B), (C), (D), (E), (A) (4) (C), (B), (D), (A), (E)

Options :
92090689093. 1
92090689094. 2



92090689095. 3
92090689096. 4

Question Number : 74 Question Id : 92090622543 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

== fau 7Y gE Fo1 F IT6 AR F AN (T8 § BIS) AT |

(A)
(B) e Taw
(€) He (W)
(D) ¥ (9a)
(E) fa=e

+ra feu e faeedl ¥ | 58 I %1 994 i

() (A), (B), (C), (D), (E) (2) (D), (B), (C), (A), (E)
(3 (B, (C), (D), (E), (A) (4) (C), (B). (D). (A). (E)
Options :

92090689093. 1
92090689094. 2
92090689095. 3
92090689096. 4

Question Number : 75 Question Id : 92090622544 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrnge these Govt. schemes as per vear of start (old to recent)
(A) Community Development Programme
{(B) Training and Visit Progoramme

(C) Integrated Rural Development Programme
(D) Kisan Credit Card

(E) PM — Kisan Samman Nidhi

Choose the correct answer from the options given helow :

(1) (A), (B), (C), (D), (E) (2) (C), (D), (B), (E), (A)
(3) (B (C), (D), (E), (A) (4) (A), (D), (B, (C). (E)
Options :

92090689097. 1
92090689098. 2
92090689099. 3
92090689100. 4

Question Number : 75 Question Id : 92090622544 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e feu T TR FEATE #1396 U B o a9 g SHareyd | (T ® )
(A) FRMET SaciwHe 9EH

(B) Fm we fise dmm

(C) T<iIds wel SHoHe W

(D) TaH wise F1E

(E) t.um. foram s Ay

Fra feu 7o faweqt § 8 w6 3 %1 =94 Shifau .

(1) (A, (B), (C), (D), (E) 2y (C), (D, (B), (E), (A)
(3) (B} (C), (D), (E), (A) (4) (A), (D), (B). (C), (E)
Options :

92090689097. 1
92090689098. 2



92090689099. 3
92090689100. 4

Question Number : 76 Question Id : 92090622545 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;

Statement [ : Somatic cells of all the organisms divide through mitosis.

Statement 11 : The two daughter nuclei produced by mitotic division are not identical
to the parent nucleus.

In the light of the above Statements, choose the correct answer from the options given

below :

(1) Both Statement I and Statement [T are true
{(2) Both Statement I and Statement I1 are false
(3) Statement I is true but Statement 11 1s false
(4) Statement I 1s false but Statement [T 1s true

Options :
92090689101. 1
92090689102. 2

92090689103. 3
92090689104. 4

Question Number : 76 Question Id : 92090622545 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A= < F feg Mo #
wee (1) . |t it i 2fas i = faasm o faasm g a2

wua () : 71g =i & A fGaeE 8@ 30 g8 Sl (T & 9% o6 89) &
auH (Imgefaa) 78 #dt €

IR YA & IS °, A9 Gu T faeedi 4 § |9 39 & =999 Hia

(1) === (I) 3R (1) g41 & £ |

(2)  F (D) #AR (1) gHi 58 2 |

(3) = () Fca B, oifeha Fe (1) 38T B |

(4) FuF (1) 753 &, dfd A (1D TFT B |

Options :
92090689101. 1



92090689102. 2
92090689103. 3
92090689104. 4

Question Number : 77 Question Id : 92090622546 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;

Statement [ : Bajra is very popular crop in rainfed and drought prone areas.
Statement I1 : Sesamum is primarily a kharif season crop.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are true
(2) Both Statement I and Statement 11 are false
(3) Statement I is true but Statement II is false
{4) Statement 1 1s false but Statement 11 1s true

Options :

92090689105. 1
92090689106. 2
92090689107. 3
92090689108. 4

Question Number : 77 Question Id : 92090622546 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
foa s feumu g .

woF () : =T 1 F& 997 TG U9 9@ &3 2q 959 & wared 2 |
w2 (1) : e geam: @i fem 6l 5o 2|

IUUE YA & 3T J, A= fGu mu fawedt § ® #E 39 @ 994 it
(1) = (D) 3R (D) gl & 2 |

(2)  FE (D) AR (1) eHi 353 £ |

(3)  Fu= () 79 &, wifea e (1) 353 2 |

(4) A (1) A5 &, 9 99 (1) 97 & |

Options :
92090689105. 1
92090689106. 2



92090689107. 3
92090689108. 4

Question Number : 78 Question Id : 92090622547 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements ;

Statement [ : Single cross includes two parents to produce the Fi.

Statement 11 : Mango variety Sindhu 18 a hybrid variety.

In the hght of the above Statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement [ are false
(3) Statement 1 1s true but Statement 11 is false
(4) Statement 1 1s false but Statement 11 is true

Options :

92090689109. 1
92090689110. 2
92090689111. 3
92090689112. 4

Question Number : 78 Question Id : 92090622547 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A &1 %o feu M E

F9 (1) : F, 30e &g e %8 0 g1 Tie mine 8 € |

FUA (1) : 319 =i Fa1q Y 7% 51 g 8 |

IFIH A @ AT d, A= 40 T e § 9 58 39 #5994 Hif

(1) == (1) 3R (1) g1 9 2 |

(2)  =wuA (1) 3R (1) 3Hi 39 7 |

(3) = () 53 &, o % (1) 39T 21
(4)  FeF () 5199 2, o 597 (1D FF 21

Options :
92090689109. 1
92090689110. 2



92090689111. 3
92090689112. 4

Question Number : 79 Question Id : 92090622548 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements ;

Statement [ : Potassium plays an important role in the opening of stomata,
maintaining adequate turgor, transportation of photosynthesis and
develop disease resistance in the plants.

Statement [1: K termed as secondary nutrient because of its low requirement by the
plants,

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement I and Statement Il are correct

{(2) Both Statement I and Statement Il are incorrect
(3) Statement | is correct but Statement 11 is incorreet
{4) Statement 1 1s incorrect but Statement I1 is correet

Options :

92090689113. 1
92090689114. 2
92090689115. 3
92090689116. 4

Question Number : 79 Question Id : 92090622548 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i g1 A feu T

Fod (1) :  wiefiEm 9] § Wibe EieH, S af [aET, BReiid=ss & Iiaed 3
It § B Fieil SETE & GieRiel g9 $1 FE Tl £ |

wA (1) :  "iew U fEdiEes g & @it 914 ol %H HE1 § 3EvEs Bid 2 |

ITUH HYF e H, A oy 7o fawhedi § 8 98 I9ga I F 997 D90 -

(1) == (1) 3R’ (1) g1 @l £ |

(2)  FEA (1) #:A7 (ID) A Tod 2 |

(3)  HuA (1) wEl 2, =i %o (1) Ted 2 |

(4)  F (1) 7Tea 2, wfe wya (1) 88 2

Options :



92090689113. 1
92090689114. 2
92090689115. 3
92090689116. 4

Question Number : 80 Question Id : 92090622549 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement I : The transpiration, water is loss from aerial parts of plants in the
form of inivisible water vapours.
Statement [1: The gultation, water solution cozes out from uninjured margins of
aerial leaves only.
In the hght of the above Statements, choose the correct answer from the options given

below

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement [ are false
(3) Statement [ 1s true but Statement 11 i= false
(4) Statement 1 is false but Statement 11 is true

Options :

92090689117. 1
92090689118. 2
92090689119. 3
92090689120. 4

Question Number : 80 Question Id : 92090622549 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
== & %Y fog e E

FYA (1) :  aredfisor & 999 919 & fafis won g ot & 31599 %o a7 & &9 8 359 8 |
wo (1) . o9 afshan & qaa ot 61 o8 ot (S sfaoe 78 8) & et froa 21

IR FUA F AH °, A= fGu e Twew 9 5 98 I #9979 Hifaw
(1) =wgA (D) AR (1) H § 2 |

(2) == () 3R (D 3IEAFE |

(3) A () 53 2, oifea e (1) 3753 8 |

(4) A (1) 318 2, oifehd &ue (1) 979 2 |

Options :



92090689117. 1
92090689118. 2
92090689119. 3
92090689120. 4

Question Number : 81 Question Id : 92090622550 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(riven below are two statements :

Statement 1 : India is the largest producer and exporter of cinnamon in the world.

Statement Il : True cinnamon of commerce is dried inner bark of cinmamomum
UErLm.

In the hight of the above Statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement I1 are false
(3) Statement I is true but Statement I is false
{4) Statement I 1s false but Statement II 1s true

Options :

92090689121. 1
92090689122. 2
92090689123. 3
92090689124. 4

Question Number : 81 Question Id : 92090622550 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A < U fer T E :

w4 (1) . Tegmam fava § o=l %1 999 991 30976% U9 fafas 2 |

FYA (II) : SR &g ardfds grerail- /F~T5aa 3 1 A< & §& 91d 3990 2d # |
YR YA = e |, A Gu o Tt § 9 @E I @ 9w Hifaw

(1)  =u (D) 3R (1D gFi o9 |

(2) w9 (1) 3R (1) §H1 5A & |

(3) Fu (D) F3 2, dfe =279 (1) 393 2 |
(4) HYF (1) 393 2, Al Fa9 (1) T3 2 |

Options :



92090689121. 1
92090689122. 2
92090689123. 3
92090689124. 4

Question Number : 82 Question Id : 92090622551 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;

Statement [ : Wheat rust is a seed borne disease.

Statement 11 : Loose smut of wheat 18 an internally seed borne disease.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement I1 are true
{2) Both Statement | and Statement 11 are false
(3) Statement I is true but Statement II is false
{4) Statement 1 is false but Statement 11 1s true

Options :

92090689125. 1
92090689126. 2
92090689127. 3
92090689128. 4

Question Number : 82 Question Id : 92090622551 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i & %Y for T E

Fu (1) : T8 F T Th &1 a0 8 |
wee (1) : 7% | & JTell @M o B9 U A s Sk 7 2 |

I HA & A °, A= o T fawent § ¥ wE 39 F 997 i
() HwOIARADSA FFIE |

(2) = () A’ (D) EH FEFE |

(3 = () 59 8, 9 w99 (1) 3593 21

(1) = (1) 35 &, ot A (D) T3 2|

Options :
92090689125. 1



92090689126. 2
92090689127. 3
92090689128. 4

Question Number : 83 Question Id : 92090622552 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Salinity present in the irrigation water is given in terms of ESRE
value.

Statement I1: The extent of soil salinization and/or sodication depends on the type
and amount of salt, their relative abundance in soil and effect on
soil pH.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement IT are true
{2) Both Statement I and Statement I are false
{3) Statement I is true but Statement I1 is false
(4) Statement 1 is false but Statement I1 1s true

Options :

92090689129. 1
92090689130. 2
92090689131. 3
92090689132. 4

Question Number : 83 Question Id : 92090622552 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=i 2 = fer e g

wu (1) : oot ° 39fede efiaar o1 3.0\ 30, & &9 § yafiia i 2 |

wYA (1) : H&1 1 &iFs I HEER g1 % WHR, 396 IUEdd @A, 396 JEl 3R
1T, %y T g

I U % ATARS H, A9 50 M0 fGwed 7§ 5E 39 & 999 i
(1) === (1) A7 (1) EH & £ |

(2) = (D) 37 (1) g 353 2 |

(3) A () 59 &, oife e (1) 353 8|

(4) F¥F (1) 3783 &, e wy (1) TF 2 |

Options :

92090689129. 1
92090689130. 2
92090689131. 3
92090689132. 4

Question Number : 84 Question Id : 92090622553 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(7iven below are two statements ;

Statement | : Saline soil contain sufficient soluble salts which adversely affect the
growth of most crop plants. The soluble salts are mainly sodium
chloride and sodium sulphate.

Statement I : Sodic soil having pH>8.5, EC<4.0, SAR>13, ESP>15.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement I1 are false
{(3) Statement I is true but Statement 11 is false
(4) Statement I 1s false but Statement II 15 true

Options :

92090689133. 1
92090689134. 2
92090689135. 3
92090689136. 4

Question Number : 84 Question Id : 92090622553 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks :

4 Wrong Marks : 1

I & we g Mo E

FYA () : & ga1 § w9 9 § goesia oEu 9 Sd & S 9iEl % Sgan W gided
T9E Sd & | gouiiel oav JEgq: Hiieay Feiiss Hifead ¥ohe & ® § U
9T E |

FYA (1) : Hifsh 9a1 &1 91.09. 8.5 9 6, 4. 4.0 § F7, W.LAL. 13.0 9 3045
R oA 15.0 § s 2 2|

IHUH HYA & AT H, A U 70 faweui d | |99 39 F 999 Hiia
(1) A (1) 3R (1) g &9 2 |

(20 == () 3R (D) EH FEFE |

(3)  FuA (D) &9 2, ol %97 (1) 3359 2 |

(4) = (1) 39 &, wife &9A (1D 7 2|

Options :

92090689133. 1
92090689134. 2
92090689135. 3
92090689136. 4

Question Number : 85 Question Id : 92090622554 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks :

4 Wrong Marks : 1

(Given below are two statements ;

Statement I :

Statement 11 ;

The liquid waste like sewage and sludge can be utilized for production
of crops like sugarcane, vagetables and fodder crops.

The produces obtained by using sewage and sludge are
microbiologically very safe for fresh uncooked consumption.

In the light of the above Statements, choose the correct answer from the options given

below :

(1) Both Statement 1 and Statement I1 are true
{2) Both Statement | and Statement 11 are false
{(3) Statement I 1s true but Statement 11 1s false
(4)  Statement I is false but Statement 11 is true

Options :

92090689137. 1
92090689138. 2
92090689139. 3



92090689140. 4

Question Number : 85 Question Id : 92090622554 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CI AR C A o

e () : FeAd 99N A8 Hiow vd Toet B IUEN 1, Fesll SN SR 3eqmed &g TR
1 HHAT & |

weE (1) : =99 AR =09 % @0 8 37 70 I0E (6 96H) geastal &l giEwm |
@M = B E |

TR HYE & 3o °, = 5 7 fTwe § 7 58 35 &1 999 it

(1) =57 () AR (D SH FF £ |

(2) =y () 30 (1) S+ FEFT € |

(3) = (1) &e" 2, oifeha 9 (1) 353 B |

(4) A (1) 59 8, =i &97 (1) 79 2 |

Options :

92090689137. 1
92090689138. 2
92090689139. 3
92090689140. 4

Question Number : 86 Question Id : 92090622555 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Saline s0il having
(A) pH<85
(B) E.C=4
(C) ESP<15

(D)) Physical condition - Flocculated

Choose the correct answer from the options given below :

(1)  (A). (B), (C) only (2) (B), (0, (D) only
(3)  (A), (D), (C) only (4) (A), (B), (C), (D) only

Options :



92090689141. 1
92090689142. 2
92090689143. 3
92090689144. 4

Question Number : 86 Question Id : 92090622555 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
et qeraAT | g & |
(A) Hiwg <85
(B) sH.>4.0
(C) smaH. <15.0

(D) sitfas om - s

Fi= feu 7 faeqi § ¥ 98 3 w1 =94 $ifau

(1) =@ (A), (B), (C) (2) Fa (B), (C), (D)
(3)  @aEe (A), (D). (O) (4) (A, (B), (C), (D)
Options :

92090689141. 1
92090689142. 2
92090689143. 3
92090689144. 4

Question Number : 87 Question Id : 92090622556 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct statements ;

(A)
(B)
(©)
(D)
(E)

Naptha is a fraction of petroleum.

Percolution is downward movement of water through soil.

Highly concentrated and widely used nitrogenous fertilizer 1s urea.
Ammonia volatilization highest with urea.

So1l formed from basic rocks are more fertile.

Choose the correct answer from the options given helow :

(1)
(3)

(B), (C), (D) only (2) (A). (B), (C)(D), (E)
(A), (D), (E) only (4) (B), (C). (D), (E) only

Options :

92090689145. 1
92090689146. 2
92090689147. 3
92090689148. 4

Question Number : 87 Question Id : 92090622556 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HE T FHO

(A) e Sgiferam =1 U A9 9 8 |

(B)  9THIcisH gal H 9l % 39§ A= 714 H1 9 2 |

(C) rafus Trg 3R T 9am o 37 9T 999 90 g 2 |
(D) I & I 1 A FEia i g |

(E) wfaes tom & ffida fafgat sfvs e 6 2

Frer feu o fommedi § § @E 3 1 =94 Sifau

(1)
(3)

%9 (B), (). (D) (2) (A), (B), (O). (D), (E)
Fad (A), (D), (E) (4) ad (B), (C), (D), (E)

Options :
92090689145. 1



92090689146. 2
92090689147. 3
92090689148. 4

Question Number : 88 Question Id : 92090622557 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Legume crops includes
(A) Pigeon pea

(B) Greengram

(C) Lentil

(D) Horsegram

(E) Rapeseed

Choose the correct answer from the options given below :

(1) (A). (B), (C), (D) only (2) (A), (B), (C). (E) only
(3)  (E), (D), (C), (A) only (4) (C), (D), (E) only
Options :

92090689149. 1
92090689150. 2
92090689151. 3
92090689152. 4

Question Number : 88 Question Id : 92090622557 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FE- Tl | IHA B
(A) I
B)

(C) =8
Dy =

s

(Ey ==l

Fi feu mu famwedt ¥ 9 w8 3 =1 =59 Sifau .

(1) Ed (A), (B), (), (D) (2) == (A), (B), (0), (E)
(3) @ (E), (D), (C). (A) (4) e (C), (D), (E)
Options :

92090689149. 1
92090689150. 2
92090689151. 3
92090689152. 4

Question Number : 89 Question Id : 92090622558 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Forage crops includes
{(A) Sorghum

(B) Elephant grass
(C) Guinea grass
(I  Berseem

(E) Cassava

Choose the correct answer from the options given below -

(1) (A). (B), (C), (D), (E) (Z)  (A), (B). (C), (D) only
(3)  (A), (B). (C), (E) only (4) (A), (B), (D), (E) only
Options :

92090689153. 1



92090689154. 2
92090689155. 3
92090689156. 4

Question Number : 89 Question Id : 92090622558 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=R ATt HEE | I 8
(A) ==
(B) =t =
(Cy T T
(D) =TEHE

(E) wEmEn

Fi= feu 7o fawedl § © 9E I F1 9949 FifA0

(1) (A (B), (C), (D), (E) (2) =ad (A), (B), (C), (D)
(3) A (A), (B). (C). (E) (4) = (A), (B), (D), (E)
Options :

92090689153. 1
92090689154. 2
92090689155. 3
92090689156. 4

Question Number : 90 Question Id : 92090622559 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct statements.

(A) Cauliflower and cabbage are indicator plant of Fe and Ca.
(B) Sugarbeet is the indicator plant of Mn.

(Cy Maize is the indicator plant of P.

(D)  Rice is the indicator plant of K.

(E) Wheat is the indicator plant of B.

Choose the correct answer from the options given below :

(1) (A, (B), (C), (D), (E) (2) (A), (B), (C). (D) only
(3)  (A), (B), (C) only (4) (A), (B). (D). (E) only
Options :

92090689157. 1
92090689158. 2
92090689159. 3
92090689160. 4

Question Number : 90 Question Id : 92090622559 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HE YA F TIE Bl
(A) Fe 3R Ca & Geril 3 Gwmiid U s-<het/dehas 114 2 |
(B) 9wt Mn % Gehas dia 2 |
(C) =wn1 P 3 Hehds 11491 2 |
(D) 9F K & Hhas 9491 £ |
(E) € B & Hehe i 2 |

Fi= feu U faeeqi § 9 w8 I 1 == Sifeu

(1) (A, (B), (O), (D), (E) (2) = (A), (B), (C). (D)
(3) %= (A), (B), (O) (4) == (A), (B). (D), (E)
Options :

92090689157. 1
92090689158. 2



92090689159. 3
92090689160. 4

Question Number : 91 Question Id : 92090622560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
High salt tolerant crops are
{A) Dhaincha
(B) Sugarbeat
{C) Cotton
(D) Barley

Choose the most appropriate answer from the options given below :

(1) (A), (B), (C), (D) (2) (A}, (B). (C) only
(3 (A), (B), (D) only (4) (A), (C), (D) only
Options :

92090689161. 1
92090689162. 2
92090689163. 3
92090689164. 4

Question Number : 91 Question Id : 92090622560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Feu Y] HEAYIE HEel 8
(Ay &=

(B) FFL

(C) I

D) =it

Fi= feu mu famedl § © w1 39 =1 =99 Sifau .

(1) (A, (B), (C), (D) (2) =aa (A), (B), (C)
(3) = (A), (B). (D) (4) == (A), (C), (D)



Options :

92090689161. 1
92090689162. 2
92090689163. 3
92090689164. 4

Question Number : 92 Question Id : 92090622561 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

People's participation in an extension programme considered significant when
(A) Local leaders participate

(By Laiterate section of villagers participate

(C) Gram panchayat members participate

(D)  Majority of villagers participate

Choose the most appropriate answer from the options given below :

(1) (A (B), (C) only (2) (A, (B), (C). (D)
(3) (A)., (C), (D) only (4) (A), (B), (D) only
Options :

92090689165. 1
92090689166. 2
92090689167. 3
92090689168. 4

Question Number : 92 Question Id : 92090622561 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT & AR % IR T FHR F HEH Thel 911 A & 99
(A) TE & FAFEEY 9 #1

(B) =g = forfera =t wfierd =+t

(C) ™ 9= Heed "RiigH =

(D) i = A S fr arfer

= feu 7w fasedi § § 589 3999 I ) 949 I

(1) =HaF (A), (B), (O) (2) (A). (B), (C), (D)
(3)  %a= (A), (0), (D) (1) %3 (A), (B), (D)
Options :

92090689165. 1
92090689166. 2
92090689167. 3
92090689168. 4

Question Number : 93 Question Id : 92090622562 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The rationale for establishment of ATIC 1s
(A) Tosupply research products,
(B) To provide diagnostic services for soil. water, meat and livestock.

(C) To provide an opportunity to the institutes to generate resources through the
sale.

(I}  To monitor socio-economic impact of technological intervention for different
production systems.

Choose the most appropriate answer from the options given below :

(1) (A, (B). (D) only (2) (A), (B). (C) only
(3)  (B).(C), (D) only (4) (A, (B}, (C). (D)
Options :

92090689169. 1
92090689170. 2
92090689171. 3



92090689172. 4

Question Number : 93 Question Id : 92090622562 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

w.dt.ams. =, it wamar fefafas § q=tEm 2

(A) g % 3Ieqrg Il Bd

(B) @1, 9, WY 3R 99 Sl STER SE T |

(C) T¥4H Fl 39 30918 [Fha F IAH] FEAHA TEH F 0L FGH A |
(D) Tafy= 3tares ol 1 gETES,/ A= 999 & 80

e feu o fasredi O § He9 I9gE I & =994 HifaT

(1) ad (A), (B). (D) (2) &= (A), (B), (O)
(3)  &a= (B), (), (D) (4) (A, (B), (), (D)
Options :

92090689169. 1
92090689170. 2
92090689171. 3
92090689172. 4

Question Number : 94 Question Id : 92090622563 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mateh List [ with List 11 :

List 1 List I1
{A) World Soil Day (D 22 April
(B) World Environment Day (I) 22 March
(C) World Water Day (ITI) 5 June
(D) World Earth Day (IV) 5 December

Choose the correct answer from the options given bhelow:

(1) (A)-(I). (B)-(II), (C)-(1IT). (D)-(IV)
(2)  (A)-(IV). (B)-(IIT), (C)-(IL). (D)-(T)
(3) (A1), (B)-(IID), (C)-(IV), (D)-(D)
(1) (A1), (B)-(I1), (C)-(D), (D)-(AV)

Options :

92090689173. 1
92090689174. 2
92090689175. 3
92090689176. 4

Question Number : 94 Question Id : 92090622563 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 1 |y gt 11 1 e Fifa |

il o 11
(A) favg 71 faam I 2238
(B) fawa ammw feam (IT) 22 =
(C) Tova 511 fgad (I1D) 5
(D) foa gt feme (IV) 5 fewmar

Fe feu T fawest ¥ 9 w8 39 1 999 e

(1) (A)-(D), (B)-(ID), (C)-(I1D), (D)-(IV)

(2)  (A)-AV), (B)-(I1I), (C)-(D), (D)-(D

(3)  (M)-(ID, (B)-(1D), (C)-AV), (D)-(I)

(1) (A, (B)-(II), (C)-(I), (D)-(IV)
Options :

92090689173. 1
92090689174. 2



92090689175. 3
92090689176. 4

Question Number : 95 Question Id : 92090622564 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match Last I with List 11 ;

List 1 List IT
{(A) Halophytes () Plants prefer saline condition
(B) Lithophytes {II) Plant grows on rock surface
(C) Xerophytes {III) Plant grow under desert condition
(D) Hydrophytes (IV) Water loving plants

Choose the correct answer from the options given below:

(1) (A, (B)-(ID), (C)-(11T), (D)-(IV)
(2)  (A)(IV). (B)-(IIT), (C)-(1T). (D)-(I)
(3) (A)-(11). (B)-(11D), (C)-(IV), (D)-(D)
(4) (A)-(TIT), (B)-(TV). (C)-(IT), (D)-(T)

Options :

92090689177. 1
92090689178. 2
92090689179. 3
92090689180. 4

Question Number : 95 Question Id : 92090622564 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt [ =g g4t 11 &1 e ife |

g1 = 11
(A) FATFIZZE () U Y S A SEE THe 4 8 |
(B) A= (IT) ©H 99 = T2 i Heg W 3774 2 |
(C) HIEREHA (L) & °rg =i s § 37 2|
(D) ETESEEHE (IV) T8 9 et == s7foss B 21
feu mu fawedi O § O 39 =1 954 S

(1) (A)-(I), (B)-(ID), (C)-(I1D), (D)«(IV)
(2)  (A)-AV). (B)-(I), (O)-aL), (D)-(D
@) (A)-1D, (B)-(1D), (C)-(IV), (D)-()
(4)  (A)-(ID), (B)-(IV), (C)-(D), (D-(I)

Options :

92090689177. 1
92090689178. 2
92090689179. 3
92090689180. 4

Question Number : 96 Question Id : 92090622565 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Matech Last [ with Last IT :

List I List I1

(A) Indian Council of Agricultural (I} New Delhi
Research (ICAR)

(B) National Dairy Research Institute (II) Karnal
(NDRI)

(C) Indian Veterinary Research (III) Izatnagar
Institute (IVRI)

(1)) Indian Institute of Vegetable (IV)y Varanasi

Research (1IVR)

Choose the correct answer from the options given below:

(1) (AL, (B)-(IID), (C)-(I), (D)-(IV)
(2)  (A)(D), (B)-(I1), (C)-(I11), (D)-(IV)
(3)  (A)-(IV), (B)-(III), (C)-(II), (I)-(I)
(4)  (A)-(ID), (B)-(IV). (C)-(111), (D)-(T)

Options :

92090689181. 1
92090689182. 2
92090689183. 3
92090689184. 4

Question Number : 96 Question Id : 92090622565 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 1% =1 =t 11 = e it

Tt 1

(A) 9 FH AFEaH THEg (7.5 .0.)

(B) 9NAE 9 IFEYH T2 (TH.51.31.3718)

(C) amdE 93 i AE9H 929
(3. <ff. 37 3. )

(D) AT Hesll FATHIH TEIH
(3m8, 3mms <t 3. )

feu mu fasreal O 4 9 I &1 999 Hifa

T 11
1@ = feg

(1) FE=TA
(I11) 3551

(IV) FR=E!

(1)
(2)
(3)
(4)

(A)-(ID), (B)-(I11), (C)-(D), (D)-AV)
(A)-(), (B)-(11), (C)-(I1I), (D)-(IV)
(A)-(IV). (B)-(11I), (C)-(1I), (D)-(I)
(A)-(ID), (B)-(IV), (C)-(I1L), (D)-(D)

Options :

92090689181. 1
92090689182. 2
92090689183. 3
92090689184. 4

Question Number : 97 Question Id : 92090622566 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1:

List 1 List 11
(A) Green Hevolution () Horticulture
(B) White Revolution (I} Ml seed
(C) Golden Revolution {III) Food grain
(D} Yellow Revolution (IV) Milk

Choose the correct answer from the options given below:

(1) (A)(I), (B)-(IV), (C)-(D), (D)-(1I)
(2)  (A)-V). (B)-(D). (C)-(1D), (D)-(1IT)
(3) (A, (B)-(ID), (C)-(I1T), (D)-(IV)
(4)  (A)-(1D), (B)-(IT), (C)-(IV), (D)-(T)

Options :



92090689185. 1
92090689186. 2
92090689187. 3
92090689188. 4

Question Number : 97 Question Id : 92090622566 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 1% =g gt 11 =1 faem $ifaw |

T 1 g+ 11
(A) =i sif () Fenfaehr
(B) vad It (1) foers=
(C) HFall s (1) @ =7+
(D) e st (IV) g9
feu o famwedl O 4 w39 =1 997 Fifaw

(1)  (A)-(I1I). (B)-(IV), (C)-(1). (D)-(11)
(2)  (A)-(IV), (B)-(T), (C)-(II), (D)-(1I)
3) (A1), (B)-II), (C)-(I1I), (D)-(IV)
(4) (A1), (B)-(ID, (C)-(IV), (D)-(I)

Options :

92090689185. 1
92090689186. 2
92090689187. 3
92090689188. 4

Question Number : 98 Question Id : 92090622567 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mateh List I with List I1:

List I List 11

(A) Fertilizer contains only single (I Mixed fertilizers
primary nutrient

(B} Fertilizer contaiming two or more (I) Straight fertilizer
nutrients

(C) Physical mixture of two or more (11I) Complex fertilizer
fertilizers

(D) Fertilizer containing living cells (IV) Bio-fertilizer

Choose the correct answer from the options given below:

(1)  (A)-(D), (B)-(I11), (C)-(T), (D)-{IV)
(2)  (A)-(I1D). (B)-(IT), (C)-(T), (D)-(IV)
(3)  (A(IV), (B)-(IT), (C}-(I1T), (D)-(T)
(4)  (A)-(IID), (B)-(IV), (C)-(1T), (D)-(I)

Options :

92090689189. 1
92090689190. 2
92090689191. 3
92090689192. 4

Question Number : 98 Question Id : 92090622567 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 1 |19 g= 11 %7 foems Hifae |

il = 11
(A) IEtR ST Fae v grAiie e () Tufym s
Tl Eid |
(B) UH Fath &1 € 91 & & Aus gue ([) & 9=
cd 9 Tt Bid 8 |
(C) 2 71 8 9 wigw a9 & difas (1) Jfea (Freem) 33
oy 9 39

(D) hfea =ifa g 39w (IV) STt
feu 7u fa=edi # 9 HE 3T &1 =9I S0

(1) (A)-(ID, (B)-(IL), (C)-(D), (D)-(IV)
(2) (AL, (B)-(ID), (C)-(D), (D)-(IV)
(3)  (A)-IV), (B)-(ID), (C)-(111), (D)-(I)
(4)  (A)-(IID), (B)-(IV), (C)-(11), (D)-(1)

Options :

92090689189. 1
92090689190. 2
92090689191. 3
92090689192. 4

Question Number : 99 Question Id : 92090622568 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I1 ;

List I Last 11
(A) Nitrogen fixation carried out by (I} Nitrogenase
enzyme
(B) Conversion of organic N to NH; (II} Ammonification
(C) Phosphate mobolizer (IIT) VAM
(D)} Phosphate solubilizer (IV) Pseudomonas

Choose the correct answer from the options given below:

(1) (A)-(I1L), (B)-(I1), (C)«(T), (D)-(IV)
(2)  (A)-D. (B)-(IT). (C)-(I1T), (D)-(IV)
(3)  (A)(ID), (B)-(IV), (C)-(I11), (D)-(I)
(4)  (A)-(IID), (B)-(1I), (C)-(IV), (IN-(T)

Options :

92090689193. 1
92090689194. 2
92090689195. 3
92090689196. 4

Question Number : 99 Question Id : 92090622568 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1% 71 5=t 11 1 e $ifag |
g1 = 11
(A) a9 Teeees () s=mem & (D) —seifams
g EA B
(B) #fas N & NH, ¥ agem (IT) FEFITHHIE
(C) FIEhReHITEET (111) <t.u.um.
(D) HEHE HTITATEH (IV) GEHATE
feu v faedl § @ wE I =1 999 Hifen

(1) (A)-(III), (B)-(IL), (C)~(I). (D)-(IV)
(2)  (A)-(D, (B)-(II), (C)-(I1D), (D)-(TV)
(3)  (A)-ID), (B)-(IV), (C)-(11I), (D)-(T)
(4)  (A)-(ITD), (B)~(IT), (C)-(IV), (D)-(I)



Options :

92090689193. 1
92090689194. 2
92090689195. 3
92090689196. 4

Question Number : 100 Question Id : 92090622569 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match Last I wath List I1 :

List I List 11
(A) Mallformation (I) Opium poppy
(B) Seedless (II) Sweet orange
(C) Lancing (III) Mango
(I¥ Granulation (IV) Banana

Choose the correct answer from the options given helow:

(1)  (A)(IL), (B)-(IV), (C)-(I), (D)-(1I)
(2)  (A)IV), (B)-(II), (C)-(I1I). (D)~I)
3) (A, (B)-(II), (C)-(IIL). (D)-(IV)
(4) (A1), (B)-(D), (C)-(I1), (D)-(IV)

Options :

92090689197. 1
92090689198. 2
92090689199. 3
92090689200. 4

Question Number : 100 Question Id : 92090622569 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=t 1% =19 g=t 11 1 foems $ifa |

i 1 T 11
(A) TTEAREIH @ 16
(B) #Hreems (ID) a1 g
(C) =t (I11) =
(D) e (IV) et
fou U fomredi B § T8 I A1 95T RIS

(1) (A)-), (B)-(IV), (C)-(D), (D)-(1T)
(2 (A)-aV), (B)-a1), (C)-1D), (D)-(I)
@ W), B)-II), (C)-(I1I), D)-IV)
(@) (A)-(aID), (B)-(D), (O)-(ID), (D)-(IV)

Options :

92090689197. 1
92090689198. 2
92090689199. 3
92090689200. 4



